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TIME 3 HOURS.

INSTRUCTIONS TO THE CANDIDATES; ANSWER QUESTION ONE AND ANY OTHER THREE QUESTIONS.
QUESTION 1.

a) (i)What is CAPITAL RATIONING (ii) Distinguish SOFT CAPITAL RATIONING from HARD CAPITAL
RATIONING and highlight some influences to capital rationing indicating whether each of them is
soft or hard capital rationing? (8 Marks)

b) JUBILEE HOLDINGS LTD. Intends to undertake the following 4 independent projects.

PROJECT INITIAL CASH OUTLAY KE (YEAR O) | YEAR 1 KE YEAR 2 KE
A 10,000,000 7,000,000 6,000,000
B 20,000,000 15,000,000 15,000,000
@ 30,000,000 20,000,000 15,000,000
D 40,000,000 25,000,000 20,000,000

The company’s opportunity cost of capital is 10% p.a The company has imposed a capital

expenditure ceiling of KE 70,000,000 in year 0.

i) Determine the Net Present Value of each project. (8 Marks)

ii) Allocate the KE 70,000,000 available in year O to the projects that promise to bring
maximum value to the firm. (8 Marks)

iii) What will be the effect on the value of the firm after undertaking the selected projects?

(2 Marks)
c) Discuss the following cash management models meant to determine optimal cash balances for a
public corporation. (i) BAMOUL MODEL(7 Marks) (ii) MILLER-ORR MODEL (7 Marks)

Question 2.

CORD CORPORATION purchased a brand new tractor 5 years ago at K£1,800,000. The machine had 15
years economic life and being depreciated on straight line. The book value after 5 years was
K£1,200,000. It had zero scrap value at the time of the purchase. The managing director has done some
feasibility study and found that with KE 2,880,000 a brand new machine can be bought whose scrap
value after its 10 years of service will be KE 480,000. The old machine can fetch KE240,000 in the market
today. The opportunity cost of capital of the company is estimated at 10% p.a. The company is in the
40% tax bracket. Advice on the replacement decision. (20 Marks)

Question 3.

KAMATUSA CORPORATION wishes to invest in a project whose initial cash outlay is estimated at
K£5,000,000. Its expected net cashflows KE600,000 p.a for the 6 years economic life. The average
market return over the period is averaged at 15% p.a .The yield on Government Treasury bills is



stabilized at 10% and is expected to remain so for the period in question. The systematic risk of the
project is estimated at 1.2

a) Determine the viability of the project under RISKY CONDITIONS. (5 Marks)
b) Determine viability of the project under CERTAINITY EQUIVALENT. (15 Marks)

Question 4.

Firms A and B are similar in all respects except that firm A is UNGEARED while firm B is GEARED with a
KE 500,000 debt at 10% and KE500,000 equity. Both firms have investments in total assets worth
K£1,000,000 each. Both firms are in the 40% tax bracket and the cost of capital of the ungeared firm is
12%. Net Operating profits for both firms is KE200,000.

Required :
i) Proof of all MM propositions using the above data. (16 Marks)
ii) Highlight the main conclusions that can be drawn from the MM hypothesis on COST OF
CAPITAL and VALUATION, CAPITAL STRUCTURE and COST OF CAPITAL. (4 Marks)
Question 5.

Write short notes on the following:

a) OPERATING LEASE (5 Marks)

b) FULL PAYOUT LEASE (5 Marks)

c) SALE AND LEASEBACK TRANSACTION (3 Marks)

d) AGENCY THEORY IN FINANCE (3 Marks)

e) CORPORATE GOVERNANCE and SOCIAL RESPONSIBILITY (4 Marks)

Question 6.

a) Concisely, describe the Relevance of Dividend Policy school of thought under the following
headings:

i) GORDON’S MODEL (4 Marks)

i) WALTER’S MODEL (4 Marks)

iii) THE BIRD-IN-HAND VIEW (4 Marks)

b) Highlight on the practical considerations when formulating a credible dividend policy. (4 Marks)
c) A firm’s dividend policy is 50% payout. Its EPS=Ksh. 30. The rate of return on internal investment
is 20%. Shareholders require a 15% return on their share capital investment. Determine the
current market price per share under:
i) GORDON’S MODEL (2 Marks)

ii) WALTER’S MODEL (2 Marks)
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